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Consistency test result

st00215 (Leak Rate vs. Date)
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Adapted python code for detect jump/kink

Why _| not testme agaln chamberZ fit

240 T T
& Slope = 213 65 + 5.99x Jg PPM/sec
#_ecak Rate = 0.7 07 cc/mi
220 » BBssed Ieah U| H E
e '{‘
200} - P o .
.'-.‘o .
]
180 - 4
160 4
140 J
120 4
100 J
i
80+ 4
o
En 1 1 1 1 1 1
0 1000 2000 3000 4000 5000 6000 7000
time (s)

* Those are the abnormal figures that can be detected



Adapted python code for detect jump/kink
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* The figure above is the one that cannot be detected by the code.

* | randomly choose 10 normal figures, they all passed the test.



